Was ist die richtige Losung? (plus Zahlen bis 10)

Plusrechnen

4 413 +2= 5. 628+0= 6. 250+2 =
7 93+8= s F+5= 9. 190+0=
10.538+5= 1. 6F6+0= w4 +1=
3 F10+3= 142990+ 4 = 5. 98 +1=
6. 8f2+5= 12902 +2= 18.208+3 =
19.91+7F= 0384 +0= 21159 +10=
2. 939+9= 3.366+0= 22 150 +5=
5. 460 +1= 65 32+6= 7. 966 + 6=
8. 925+5= 9 5+6= 0 221+0=
31.596 +0= 322 91+6= 2959 +10=
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Was ist die richtige Losung? (plus Zahlen bis 10) | ANTWORTEN
Ot
XK Plusrechnen

. 527+0= 527 , 539+4 =543  550+8= 558
i 413+2=415 5 628+0= 628 , 250+ 2= 252
» 93+8= 101 , 7+5= 12 , 190+0= 190
0.538+5= 543 1 676+0= 676 1, F14+1=T15
3 710+3= 713 . 590+ 4= 594 5 58+1= 59
. 872 +5= 87F ;502 +2= 504 5 208+3= 211
19951+ 7= 958 5,384 +0= 384 , 159+ 10= 169
7939 +9= 948 ;3 365+0= 365 ,, 750+5= 755
5 465+ 1= 466 5, 32+6= 38 ,; 566+ 6= 572
% 925+5= 930 , 5+6= 11 5 221+0= 221
51.596+0= 596 3 B1+6= 57 33959 +10= 969
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